- 2X 2X 2X TEM P ART NUMBER DESCRIPTION FINISH| Bz T QTY.
1 [TW1260.01 _ |STRAIGHT TOWER 2' STAND-OFF PIPE MOUNT (WELDMENT]H.D.G.| 98.86 | 1
2 [TW1010.02 UPPER ADAPTER PLATE (3/8" PLATE) H.D.G.| 5.00 | 1
(2) PLACES UPPER 3 [TW1010.03 LOWER ADAPTER PLATE (3/8" PLATE) H.D.G.| 2.98 | 1
(2) PLACES LOWER 4 TW1107 LARGE CROSSOVER PLATE (3/8" PLATE] H.D.G. 822 [ 2
5 |GU54564 5/8"X 6-1/2"x 4-5/8" x 3" U-BOLT H.D.G.| 1.45 | 4
6 |GFO05 5/8 FLAT WASHER H.D.G. 0.08 | 8
7 |GLO5 5/8"LOCK WASHER H.D.G.[ 0.03 | 12
8 |GNO5A 5/8" HEX NUT (2H) H.D.G.[ 0.12 | 12
9 |GU42440 1/2"x 4" x 2-1/2" x 2" U-BOLT H.D.G.| 0.57 | 4
10 |GFO4 1/2" FLAT WASHER H.D.G.| 0.04 | 24
11 |GLO4 1/2" LOCK WASHER H.D.G.| 0.02 | 24
B BLACES L OWER 12 |GNO4A 1/2" HEX NUT (2H) H.D.G.[ 0.06 | 24
13 |GP2375.078 2-3/8"x O.D. 78" PLAIN END GALV PIPE H.D.G.| 14.63 | 2
Sgﬂ@'g B ¢ 14 |GBO516A 5/8" x 1-3/4" HEX BOLT H.D.G.| 026 | 4
- 15 |GFO5A 5/8" FLAT WASHER H.D.G.] 0.03 | 4
P 16 [TW1320.01 CLAMP HALF 1-1/2"TO 3-1/2" OD ROUND (1/2"PLATE] H.D.G.[ 1.20 | 4
P 17 [TW1315.01 CROSS OVER CLAMP BRACKET, SM TO SM (WELDMENT) |H.D.G.| 2.40 | 2
(2) PLACES UPPER ) 18 |[GR500.006 1/2" x 6" THREADED ROD H.D.G.| 0.33 8
(2) PLACES LOWER Q .. 19 |GP2375.126 2-3/8" O.D. x 126" PLAIN END GALV PIPE H.D.G.| 38.49 1
4 / FTS ANGLE & UNIVERSAL SADDLE MOUNT KIT (SOLD SEPARATELY)
< FOUNLEC;S?WER PART NUMBER DESCRIPTION FITS (ANGLE & PIPE TOWER LEGS) QTY.
\\ (SEE OPTION TABLE) TW1126  |UNIVERSAL SADDLE MOUNT|L2-3/4"TO L4-1/2" ] @1-3/4"TO @6-5/8" O.D.| 1
“ UNIVERSAL SADDLE MOUNT ; . . .
STANDARD & LONG LEG
UNIVERSAL SADDLE
MOUNT KIT
SOLD SEPARATELY
(SEE OPTION TABLE)
2X SCALE T~ 4
@ ' (4) PLACES
e PER STIFF ARM
END
a UNLESS OTHERWISE SPECIFIED: DESCRIPTION: 6'-6" HD T-SECTOR FRAME, 2' STAND-OFF,
‘\ ?c';ﬁ?i@esf\ffl'y INCHES ANTENNA PIPE NOT INCLUDED
i PRO TOWER orere
ANTENNA PIPE MOUNT KITS STZE | ™ romReraRY AND CONFDENTIAL 2 TW1002.078
SOLD SEPARATELY B | reisomnoncommennas MANUTACCURING om0 o0
A LT SAlbuguergue NV 87100 [ | 0702 |
FINISH HD.G. Egg;g‘\;\lg MANUFACTURING LLLC. 1S (505) 924-2810 SHEET: 1 of 1 SCALE. NTS 217.83




	TW1002.078
	Drawing View36
	Detail View A (1 : 4)
	Detail View B (1 : 6)


